Advanced Kids Series
Second Terminal Evaluation - 2077
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1. Write the numbers in ascending and descending order.

a) 1,5,4,2,3,6,8,10,7,9
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b)l1l1 14 12 13 15

ascending

descending
c)l7 18 16 20 19




ascending

OOOOO
OQQQQ

| PH Al AgPh <*I{9"|6|<1 |

descending

-

O

O




~

3) "Rl HH ATARET AgH Teleld |

LA




4. How many altogether ?
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3 + 4 + 5 + 6 =

There are altogether balls.
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4 + 6 + 9 + 6 =

There are altogether

apples.
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6) Solve the word problem by adding.

1. Ashu has five toffees and Jeshu has two toffees. How many toffees
do they have altogether?

5+2=

2. Nirvan has three pencils. Praharsh gives him six pencils. How
many pencils does Nirvan have altogether?

3+6=




7) Write the place value (Tens and Ones) correctly.

Numbers | Tens

Ones

10
12
14
16
18
20
22
24
26
28

8) Write the numbers in figure.

tens 3 and ones 0 =

tens 3 and ones 1=

tens 3 and ones 2 =

tens 3 and ones 3 =

tens 3 and ones 4 =

tens 3 and ones 5 =

tens 3 and ones 6 =

tens 3and ones 7 =

tens 3 and ones 8 =

tens 3 and ones 9 =

30
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L B Teb = 39

ITAIRTH =

AT ITH =33

g T ¥ Uk = 3¥

ER Tk = 34

3T T TP =

3T T 9TF =

3 a9 X Ueh = 35
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